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cm f@@m
Topic: Physics-Section B
Item No: 56
Question ID: 1569456

Question Type:

Numeric Answer

Question:

@M@ BN 2 N@DOTNCLITT CaldOR! 6N EBBBEUD WELINW)EUI
&) NG UBHN@B 215 1a121E)H)IM). A-W)OS®)o B-@)HSW)o
HSIOE! MUOA [al@NEEIWo o @R6NT.

200




Topic:

Physics-Section B

Item No:

57

Question ID:

1569457

Question Type:

Numeric Answer

e QN3 IT1ERMM)o. RER ERDWONWISSM)0. BED
@ROULODNQ)ESMNAIQ RENE MRS CaNIBERINd: 2IRIMEEROS
AU M@ oCaldm) 6)a1Q). BOWHMNES alLINMT A

Question:
CROONWIOS A BSERIANT. RO 2ILIMOBEM (Ma0L! RO
(resultant amplitude) alRIMEERUE MANTENEE EanNMU QUIMLIMo ° @6,
Topic: Physics-Section B
Item No: 58
Question ID: 1569458

Question Type:

Numeric Answer

C. 3C af)0 dHaJ2NNOMBMNIEHUE DSBS @6 dha] XTI U,
MANDEAWQN 21S)alla]. 18V )alde)S0BaH @8 (UL ON@IM@TTG3
2103228 6)a1@)M). U200 af)Symm) MINW@NNT GlaaHo, C

Question: Gl 988 GHaldMNOM N alEB0)dHhUEHENSWNGE. A6
L IEH(S A6 (MON08Ho 9 HSS QUMY MILICUMOIWIo MO
Gl dMNI0O)HUBH6) EH)O)EEH WSS al)ONW §)aldfSBa | @D
QUL @NWIMo V @06

Topic: Physics-Section B

Iltem No: 59

Question ID: 1569459

Question Type:

Numeric Answer

20 em GaN0ENGE MSMES 63@) CdhIENBEINIL QRINGMY, 63@)
CHI6ENTEINS dHEMIS1He) MMNTEB @POUWIRS (N3N a]@d
@RHUEBRUT 63(0) CGnlIEE! QUM MA@ 6Nla)). HLIBMIamIEBO)o
HEMOS1WINSW)o HSWLNSBES @OEHLI0 10 cm @A), GhINBEINLS

tion: s

Question SRIMBMN@D (MM 60 cm EOBHELIVIQS B GG UMY Ol 0D
GhOMNEMaMNT (Y @B @REM NNM3NNGE e eens
(MU e 2]). GhENBaINUH: EheNISIWIAS Galddsmy (S0 cm
@6

Topic: Physics-Section B

Item No: 60

Question ID: 1569460

Question Type:

Numeric Answer




20 0 OMITLNIMT 988 0] ERSEMD MBS 1LNOSWISE ELITT d:
o8& (OOUSUNNED) ¢ = 82 - 9t + 5 af)MEEBREM MAWO t(s)—H8)

Question: OMSHMBUNDD) @RMVE 2] DAY, t=0.25 s-OL] Clal AN SO
@DI6M0o (magnitude)  mA @6,

Topic: Chemistry-Section A

Iltem No: 61

Question ID: 1569461

Question Type: | MCQ
Gal®)o alS) Gal@a)dh.

enNgy | (@O () enay u

(OOaNENNHB W ETVAMOD: @)nlo)

A. XeO3 I. sp>d el
B. XeF2 Il sp> al@E W@
Question: =
C. XeOFy lIl. spd® AUN@EYa@SAL
SEHESIaT W@
D. XeFg IV. sp2d?® (M @@ o N@ENDMS
MIOPOQNT BIalaMM)dhed 1@d M0M)o RE1RIT OMmM@o
@ REETIMS) B b
A: AT B-I, C-IV, D-III
B: A-TL B-IV, C-III, D-I
C: A-IV. B-II, C-I1II, D-I
D: A-IV. B-II, C-I, D-III
Topic: Chemistry-Section A
Iltem No: 62
Question ID: 1569462
Question Type: | MCQ

Question:

1kg 2LIODNGS 1 ¢ D8 nf)B)alo MU ENIOT £I1MEEBUE X-o Y-8o
e1oNala] @INJEM0 A af)M)o B af)(Mio OBE 06N LIDQIM&HUD

M@0 2]). A-W)OSW)o B-WIESW)0 6URIEHMTENENEIQ dhyNNNE3
@RMIMo 1:4 @BEIEMATT EHOENSMHN. X-6)B@0 Y-QIOSW®Io MBI
(E006BRUT MEANLNSS @RM)aldMo @R6N:

1:4

1:0.25




C: 1:0.20

D: 1:5

Topic: Chemistry-Section A
Item No: 63

Question ID: 1569463

Question Type: | MCQ

MIOPLES af)(MF] (UBDDMEBRRIOS @REWIENEHE6M
MINNEIBEEBSIENT WINI(B B0 K, . K, . K,, af)TMOU.

(a) H»C;04 = H™ +HC,03

Question: (b) HC,0F = H'"*HC_?Gi_

(€) HyC,04 = 2H™ + C,03~
K,, 90.K,, 90.K,, 9o O@ILNSS NIMLo MA@ BIMD):

A: Ka =Ky T Ky

B: Ki =Ky — Ky

C: K, =Ka /K,

D: K. =K, #K,,

Topic: Chemistry-Section A

Item No: 64

Question ID: 1569464

Question Type: | MCQ

630) HEMRGHGTINNG AN CRIBIB ez 20 mL NaCl
2IDWM@YES 10 CRIS)EHUE MOWHMEMIIUE A, Do. 80 mL NaCl

-80 @EN. HD 6T

Question: BI0MTIWES 20 GMIE3) HUS m?nmjcemg@ﬂmtﬂ A"ﬂ
EITVRN) dhE3)0 dhIETT 1860 ce:m.ﬂ?gﬂnﬂgﬂ 63G0 Calde)el@Iem. A.m -8o
A, -90 MINRNSS SrIMLAENT:

A: Amz = 2!\“]1

B: Amﬂ = Am1 ";2

C: Anﬂ = Anﬂ

D: Am'.l = 4Am1

Topic: Chemistry-Section A

Item No: 65

Question ID: 1569465

Question Type: | MCQ




ENEMILNHEIES (micelles) @allHREMOT@3, MIGLLSSOUQ@D
PRA@IW (AITRINUIMBHUT aBEMLII0?

A NOMV2NHEINS BYalIEBHR6Mo B@) nf)dGMIIOMBAE (o810

Question: @6, ]
B. m;%nu%gc&ggas @)1 EEMo B3@) af)BEUISMGIE (al(H1W
S@nmna(ztaom@ﬂmgsrmc&gm 21900 CaldmNNNT @ryend.
D. af)(BESINWNLNENEIEHM D000 MUNGTNT @Ry6rT].

A: A.D Q0o

B: A, C MO(Mo

C: B, C MO(Mo

D: B.D D)Mo

Topic: Chemistry-Section A

Item No: 66

Question ID: 1569466

Question Type: | MCQ

Be. B. N, 0 )@EIN®OUIM)OS 620MJo @RERIGTIEh@6M g8l

Question: @RMCUBOTTE) M (ERo:
A: O=N=B=Be

B: Be<B<N<=0

C: B=<Be<N=0

D: B=Be=0O=N

Topic: Chemistry-Section A

Item No: 67

Question ID: 1569467

Question Type: | MCQ

Question:

MI6)P MOTNRIAEMMID) @6NS (ATRICUMNBHE06NT,

(lMRICUM I: HITY @REWET MI(dhIal @RECQEMAMIQ Eal@OD)
aNSIEMEMUIPIAT aNUT ERECWAETS LIEENIMD).

(ORI II: HIAY @REWENEMENIB]0 MIRMEALM E)NET)
H@enIend @roloAd6eM U] @RCEN RSSO,

D) HENENES (alTPIUMEHENRS 61U 2 @m@8. ISP MA@ 1H60M
63001 EHEN TS MO0 LOAIWIW BMMMDo MNOEEMMS)EE)]dh.

(Al0YI0M 1-90 (lMRICUM II-O0 L@ WIET].

(AlYI0M 1-90 (AlTRICUM I1-D0 EMQIENT.

(YO0IM T WR@IWOENT af)(MI@B (ITRIOUM I OMQIEN]

9|0 2>

(Y20 1 EAQIENT af)(MIMTB [l MYICUM IT UBEIIENT.




Topic:

Chemistry-Section A

Item No: 68
Question ID: 1569468
Question Type: | MCQ

Question: DB UDELMWIES (299.95%) OENLEERNINLRNE LI EEIMD:

A: MIghlo @RE:IM @OIHNLNQIAIWES (alCU@EmMM@TILII6NT.

B. @102 2LIDOD al800 1Mo MWEIGE(SI DalEWIUa] eNIGLM
ONUGEHEMo MNSOMIEMNIIPIENT.
211508610 @RdhIM 6@ @o ARANEWIEERTUT LI0MMaW

C: M BT DEIEHESINEHUE DalE@OUT2] OeNUELMm NNUBESHEMo
MSOTETUILIATI.

D: M&blo EGMda)a @RASNIAOIW (IUE@HMOBILI0AT].

Topic: Chemistry-Section A

Iltem No: 69

Question ID: 1569469

Question Type: | MCQ

Question: MI(BO@IHS LAETWOIW (EHAAIENT:

A: Be>=Mg>Ca> 5t

B Sr>Ca>Mg>Be

C: Sr=Be>Mg>Ca

D Be>5r>Mg=>Ca

Topic: Chemistry-Section A

Iltem No: 70

Question ID: 1569470

Question Type: | MCQ

MOePW)88 PNV 86383 @Rds EDC@?Q@WUHM&(B}@QE]S @6l nf)6llo
@@Erﬁ:

Question:
NO. N,0, B,0;3. N,0s, CO. 505, P40y
A: 3
B: 4
C: 5
D: 6
Topic: Chemistry-Section A

Item No:

71




Question ID:

1569471

Question Type:

MCQ

MIOPWSE GRIIaN TUEEIEBREO! @RUTREM OM@RRMTNEB (enerey

Question: of absorption) (AR IWOW (LHADIEN:
A : [Nien);]*". B : INi(NH;)]™". C - [Ni(H,0)4]*"
A: C=B=A
B: B=C=A
C: C<=A<B
D: A=C=B
Topic: Chemistry-Section A
Item No: 72
Question ID: 1569472
Question Type: | MCQ

Nl 1-00 LNTY -0 Cal@loalS) Gal@H8))d

enoy |1 enaqyn
A, (TUUBEAO0 I E31SMOoUEI
B. afg)ee 000 Il. e BN E)RNS CUSQTD
Question: C. MEH605103 1. QUNEIM@mIN]
HIREMTOEL)T]
D. GTUIWI Qo @R@mUlemy| V. SHEmIuyIm
OIOYWBS 63nlaHMNBHENMS Mo LREWIW BODDo
@ (06)EIINS) B bb:
A: A-IL B-IIL CIV, D1
B: A-TV, B-TIT, C-TI, D-1
C: AL B-IL, C-I, D-IV
D: AL B-IL, CIV, D1
Topic: Chemistry-Section A
Item No: 73
Question ID: | 1569473
Question Type: | MCQ

Question:

MIOPWIES (A lQUBD@MMOTNEM D)6 OTalMAIEIT:

ﬁﬁ\TrDHVHQQ‘ 2HBr

O




Br Br

C

O

Br

D Br

0
Topic: Chemistry-Section A
Item No: 74

Question ID: 1569474

Question Type: | MCQ

MIOPWIES (A lUB@MOTINEME D)6} OBal(Mo af)TmIENT?

Question: TR N
H>0

0 OH
B:
H
0 0
C:
H
O
D:
H /L%
Topic: Chemistry-Section A
Item No: 75

Question ID: 1569475




Question Type:

MCQ

@RISR RAMNWIES @ROUCDIANEM (AT TS MIOPWISSNUH®

(B (0] B6)) b
OH OH OH OH
Question: @\ @\
NO, OCH;
NO, OCH,
(A) (B) (C) (D)
A: AB=C=>D
B: BA=C=>D
C: D=C=A=B
D: D=C=>=B=A
Topic: Chemistry-Section A
Item No: 76
Question ID: 1569476
Question Type: | MCQ
_ 7k I
Pl Oy it TARERE o BRQ o g #@HE

Question: Ether HCl

C -W6)S U@ 1@IW “LISM @A
A: CH3;—CH>;—CHy—CH;

O

B: [l

CH; — CH» —C— CHjy

OH

C: |

CH3 —CHy — CH - CH;4
D: CH3 —CHp —CH =CH»
Topic: Chemistry-Section A
Item No: 77
Question ID: 1569477
Question Type: | MCQ




e 180 eNaY [1-90 Gal0)onlS] Gal@H8)dh:

enqu1 eNaqu 11
calos1ad SHMeBRUD

A BBMEEINENG 6.6 I GBI U

B. (MUO((B@ cth) 6101 II. 251015166201 @RS)H0E
Question: Gl o0& 1@103 ald|(MeECRUE

C. MO(MBM h)S1W 11 ([eNlaH 1621 MI@)dhUd

Gl 1OTor 103
D. 6)SalGE06N3 IV. & 105681303
(OO GRIS| OV ROEDIMS) DB dh:

A: A-TIL, B-1, C-IV. D-11
B: A-TIT B-IV, C-1, D-11
C: A-TIL B-I, C-IV, D-11I
D: A-TIL B-TV. C-I, D-IT1
Topic: Chemistry-Section A
Item No: 78
Question ID: 1569478
Question Type: | MCQ

o I81CHNIMNEEI C1-90 B [aNdHESIMINEE] C2-90 MINENSS

Question: FIOOSEENIMUNE EIMLMo EI6MEaISIMDT-
A: moudeEsomy

B: (VY GEBHOY

C: BI0HESIM

D: @R6DEEINM)

Topic: Chemistry-Section A

Iltem No: 79

Question ID: 1569479

Question Type: | MCQ

2181 63DaHWEBBUE @OMUIUTIW]E)S (enzyme) (TUETCU (NUAIMDTMLIIE)N D)

Question: 06)02@] MOIM@MIETT erIMUNa1E0NRalSIOM@). T (MUOOMo
@RS}

A: GMOEMB-@R< 101 eeTVY
@RELIDTIOE ORG

C: Ch00a NG00 eV




D: MOl S ORME
Topic: Chemistry-Section A

Item No: 80

Question ID: 1569480

Question Type: | MCQ

ERNNOS 63006@NEITE dHIQYOTN@S af)(B Gl &HhIeMI(B

Question: Al DONOB @)t B6Mo BN
A: @ NEMIEMOWnI @)alo

B: £)aNQENINEMIEE 1 @lalo

C: a1EMIENE @)alo

D: eEnINdmNEmMonl @)alo

Topic: Chemistry-Section B

Iltem No: 81

Question ID: 1569481

Question Type:

Numeric Answer

56.0 2M10@ OEMN(S20B (UIMdHo BRI HMES OBaNIEN3
(UMW )51 E2BOMEI0B. 20 2NOG EREAIETNQ (UIMdb0

Question: 0@l @IV BOEBO. DalCWIN BT EMS23
CUIME@TNEINT (1 §20d0 EHeETR@TNQI@ B0 0MM) ENO@ @oend.

Topic: Chemistry-Section B

Item No: 82

Question ID: 1569482

Question Type:

Numeric Answer

2 dm® (U400 /1SS MI1@B 6)21Q 6@) 08003 11 ¢ O){aldCAING U@ dho
@RSEEE1WIS)ENS. ABG0 2 MPa-@8 @DUNEH@12J008 6)nldS1CAIIEINM
@MW B@ENILINIET a08300Y. a8 £aldS1EAIIGHINN

Question: @OalMRII6) °C. [a}BON N0 BRSO o @M ]
(@IM@BEMNG): R = 8.3 TK-! mol) (£)[l0GaI3 63(0) @DEEUD
(U@ NG IGIE] 6)al(@)AIM] )’ @RMYOIMH0)dh)
C-Q16)SW o H-Qﬂc@@;o @O b IR0 WO (N0 12u-Do 1u-Do @6

Topic: Chemistry-Section B

Item No: 83

Question ID: 1569483

Question Type:

Numeric Answer




H @R0om e o =5 -2)88 0O a18606a]S BRI GSI6NT (D6

Question: G@Q’]@Eo&)ﬁﬁ al@1E6]EMUIVE (MM H208 alQ)0M DOEIVE2M
GO6UDUT @6

Topic: Chemistry-Section B

Item No: 84

Question ID: 1569484

Question Type:

Numeric Answer

OMAERHEMIN £ ald1HHUEMEBRUE MSOMYM @RV O3
60 WNBHAMOT @IOPWES (MND1HEMEEBUT NSO,
HCl+ NaOH — NaCl+ H,O0 AH=-573kJ mol!

Question: ) - i
CH;COOH + NaOH — CH;COONa + H,0 AH =—55 3 kJ mol"
ONBL0BMN] BHEMENHISIOO Caldee] @G ERASmDN&N]
@OCWIETIE@EM af)BLOITBAN kT mol™! @@)6IT.

Topic: Chemistry-Section B

Item No: 85

Question ID: 1569485

Question Type:

Numeric Answer

63(0) BN BIBA (AOIBETMAIW @BHEIVI BIGN6N3
QNARISMOTNEE,

CH;N,CH;(g) — CH3CH;(g) +No(g)

600K-@3 MIOQORDIQN eNIMLeS U@ D@ROMILNETEIW
CUL@N@OIMo @M@ 1BEYMOI:

Slope =— 3.465 = 10*

Question:

In L]

pl
t's

0 (aJCUG@MN@TNEE @REERLIWM = 1075 @M. (BRSO

al)@emmuo6i )
Topic: Chemistry-Section B
Item No: 86
Question ID: 1569486

Question Type:

Numeric Answer




Question:

XeO3. XeOF; XeFg af)MMAIQN6EI ALY GDQ63BRE @3, @RSHREIWS)Ss

CeI2end e el @ @Eﬁ@ﬁﬁﬁﬂg&:@gﬁﬁ @In6)dh (M)dh (E‘@GTﬁ.
Topic: Chemistry-Section B
Item No: 87
Question ID: 1569487

Question Type:

Numeric Answer

COeT/Cr™, Mn® ™ /Mn?™, Fe’"/Fel™ . Co®/Co?™ af)(m]
@205 1he @3 OMUNOINT TLOMEEI DRIGESIU 6)aldSBaM @3

Question: 9a8O6M@ M3~ @REWIAMEME I3 BO(Mo al@EM2a)8s MM dh
6 0IeNG16E MLl Lo B.M. @16,
[BQ0)0 BRSYTOSE alJ@ENTUoELUS]

Topic: Chemistry-Section B

Iltem No: 88

Question ID: | 1569488

Question Type:

Numeric Answer

010N BUT e o @ERQEEWT @ROTWESITI 6] CAIEEMD
£)E)aN(Wd @DTIHECaNIEE08 R-0OH 4.5 mg (TVIMNUB

Question: Cal@HeEHWIETEIWN. 630) UIME0 MIMIOMAINUEHW)0 @RM)
CUAGUEN2] (1 Y0alo @REMMEIUE 3.1 mL @R)6NT 1S 1@,
@RNWEISIOD @RTIENCNIFENE MMI(MIEID0 e/mol @D)6IT.

Topic: Chemistry-Section B

Iltem No: 89

Question ID: 1569489

Question Type:

Numeric Answer

Galad@ QBHIMICN(NI0] OEHIENE RENE (MOEBROS CAUBMNRL0I03
alQ)o. @RSINUNIM CREIQIMS MMYo LIDWEODEM MNBNULNI0,

Question: (M0o A-®)o B-W)o MA@ 12 B)do @INI[dbA0 3 25cm, 2 08cm,_ 1.05em
af)eERaMM)o @6 A-@16)SW)o B-W16)SW o Ry MIEIN6ERE16)S
@rMialdMo @RENT. (BRSO al)@eMosl)

Topic: Chemistry-Section B

Item No: 90

Question ID: 1569490

Question Type:

Numeric Answer

Question:

CsHy, af)(M @ITUNVYOIMSS B0} @R@EHMN@S T @)alo
B1EHISS) M GAIEEMI GENIIGEI HMEINIGHEINS (TWIFECWI
Baf)EMRMHUE HISIOM) CRIEH: af)ello CRENT: - (B0
@RSV al)@ENUo6Y)







